Common-Base Amplifier Example - Summer 2000

R p(x,y) i=—2 - , ,
X+y Function for calculating parallel resistors.
R ; :=100000 R, :=120000 R ~:=4300 Rp:=5600 R ¢:=100
Vp =15 Vi =-15 VRg =065 V1:=0025 p:=99
ry =20 r( =50000
vgi=l With v = 0, the voltage gain is equal to v .
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This is the voltage gain.



Tin "R p(Tjeo:R ) rin =10.549

The following solution is based on the r ;. approximations.

Lese ::'Vte'—a 1oge —-8.98710 °
Fiet Rye
Vi g R P<R c:R P<r iC’RL>> v =26.861 This is the voltage gain. It is 0.004% lower
than the exact solution.
out =R p[TicR ) oy =426310°
rin::RP<rie’RE> ri, =9.96



